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1. Paper 1 has two parts: Part 1 & Part I
SH U U @ &Y 9RT § : ART 1 R 49T 2
(a) Part | : Reasoning (50 marks)
HET 1 @ 9@ (50 marks)
(b) Part Il : Elementary Mathematics (50 marks)
ART 2 : oA |
2. Each part carries 50 objective type of questions.
u@ﬂﬁdﬁmﬂw_&nﬂzm«monﬂﬁaﬁw I
3 There will be four possible ans

. wers to every question. Candidates are
required to fill correct answer in the OMR sheet with Black ball pen.
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part | : Reasoning (50 Marks
AT 1 : T (50 AFH)

Directions In thes€ ques

tions the letters in a word are replaced by certain other
letters according 10 @ speci

fic rule to form its code. You are required to detect the
coding pattern / rule and answer the questions accordingly-

Bty : ﬁﬂawﬁmﬂwziﬂwaﬂ@iw%mﬂgﬂzi
@ﬂﬂﬁ%ﬁﬁw%mﬂw.gﬁwﬂﬁ\wﬂﬂﬁqﬂmﬂﬂw
%%&ﬁdﬂﬂﬂ.ﬁmﬁmﬂw

Q1. Ina certain language, OPERATION is written as NODQBUJPO. How is
INVISIBLE written in the code?

s ffvaa sm #, OPERATION F NODQBUJPO & w7 & faar & o &
INVISIBLE 1 ¥ @ S §

(a) JOWJTICMF  (b) JOWJTHAKD  (c) BMUHTJCMF () HMUHTHAKD

Q2. In a certain code language, PLEADING is written as FMHCQMFB. How is
SHOULDER written in the code?

v BRgq st &, PLEADING ® FMHCQMFB & & f@r ioar fw
SHOULDER &Y @ I §

(@ KCPATIPV (b) QDCKTIPV  (c) QDCKVPIT  (d) TIPVQDCK

Q3. In a certain code language, GAMBLE is written as FBLCKF. How is FLOWER
written in the code?

s fARaa smm #, GAMBLE #t FBLCKF & & # for@r &, af fsv FLOWER &Y
FX Rrar o ¥

(@) HNQYGT (b) EMMXDS (c) PVFQ (d) GMPVDS
.U.:mozo:.w In these type of questions
is given and you are re

generally a set, group or series of numerals
conditions.

quired to trace out the numerals following certain given

WUWMH ¥ RN F weell F wmr AR W AH W v e, worg ar sigen & S
imﬂﬂﬁd»ﬂﬂqﬂﬂﬁ@ﬂ%ﬂﬁaﬂ?w
Q4. Sam ranked 9" from t, h
m»cam:»mma%mﬂm._:?m o_mmmwc m:awm

from the bottom in the class. How many



e 3 P ST R
mmaﬂﬁwwﬂﬁmw%@d#wm»«ﬁﬂﬂﬂ

(@ a5 (b)y 46 (c) 47 (d)y 48

Q5. Manoj ang Sachin are ranked 7" ang 14 respectively ﬂo ¢
31 students. What will be their respective ranks from the bottom in

FTT 9§,
Manoi 31X Sachin 31 st # T BT F Fax @ garer: 73 AT 11T
T A D @ 35y weaftaa & 47 gnfr 2

(@)  20™ gpq o4t (b) 24" and 20" (c) 25" and 21°

m top in @ class of
he class?

(d) 26" and 22"

Q6. In a row of boys, A is 15" from the left and B is 4" from the right. .ﬂJm_ﬂ‘momﬂm
three boys between A and B. C is just left of A. What is C’s position from the right”
mwﬂ_ﬁaﬂ?&.>ﬂ4ﬂ&»ﬁﬂﬂ@.>%m%§%ﬂﬂwﬂ@
C. AT AW R, arf & C w1 wumr 7T &2 (n

—_—

(@) ot (b) 10" (c) 12t (d) 13* t—

Q7. Richard is 15" from the front in a column of boys, there were thrice as many
behind him as there were in front. How many boys are there between Richard and
the 7" boy from the end of the column?

mwmﬂwqaﬂﬂ,_\ﬂﬂ&mmosmawﬂ#;mﬂﬂﬂﬂ%ﬂmﬂﬁ_ﬂﬂ@ﬁ e iC
u._.u:n:mw&.ﬁmﬂ#wﬂﬂmmosmqa%wwmwﬁﬂﬁdimwﬂwQ

(@ 33 (b) 34 (c) 35 (d) None of these

Q8. N rank 5" in the class, S is 8" from the last. If T is 6" after N and just in the
middle of N and S, then how many students are there in the class?

N e 3 53 T uv ma@ﬂﬂm»ﬂﬂﬂwaﬂﬂzﬂmﬂm»«ﬁﬂﬂw%z
I SF OF 7T A ¥ & Fanr F Reaer Ryeareh § 2

(a) 23 (b) 24 (c) 25 (d) 26

Q9.  Inarow of 21 girls when Monica was shifted by four places towargs the right,
she became 12 from the left end. What was her earlier position from the right end of

the row?

Méﬂw&%aﬂaﬂwﬂwﬁzoaomﬂaﬂﬂiﬂ.ﬂ%%@%
Jmar &, @ 9% 9¥ BR @ 12fr @ ot & 9iHd F I BR ¥ swedr ggelt

feufa Far oA€Y ?
@ 8" () 10" () 12" (@) 14"
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of questions some particular objects are assigned code

type
In thes€ o
ked that is to be answered in the code language.

Directions macmmzo: is as
q.mﬂnﬂzﬂﬂﬂﬁwﬂﬁwﬁqmﬁiﬁ%mﬂﬂﬂsﬁw,?ﬂqﬁ
fdar w.m_dﬁﬁ%uqmz?%ﬂﬁmiﬁm@q

.« called air, air is called plateau, plateau is called well, well is called

then from where will a women draw water?

mm_ms.a_.
S, @1 FY TSN FET o, GOR FY HAHT FET AL, TA F
ﬁ%ﬂzqﬂaﬂﬂ.%saﬂaﬂ%ﬂm@ﬂﬁ:e

X o and & (0) well F3F  (c)  sky AP (d)  air gar

alled white, white is called rain, rain is called green, green is called

Q11. If cloud is C )
lue is called water, where will the birds fly?

air, air is called blue and b
ofx aa @ hE FET I, At F aIRer FeT ST, aIRer B FET A, T
ﬂmﬂﬂﬂmﬁmﬂﬂ%ﬂﬂﬂﬂ#%ﬂiﬂﬂmﬂ.ﬂqﬁmﬂﬁmﬂ
(a) airgam (b) blue T (c) cloud @@l (d)  white %a

Q12. If water is called food, food is called tree, tree is called sky, sky is called wall,

on which of the following grows a fruit?

afy @ N o wEr 9, o B I
sTer @ AR FE o, @ P A @ PR 9T we @ 7

food #Yeiet ()  sky JmeRrar (d)  tree gat

mﬂmﬂ.mﬂﬂ%ﬂémﬂmﬂw.

(@) water SIer  (b)
matrix of certain characters is

Direction ; :
Directions In each of the following questions, a
-wise or column wise. Find out

iven..T
mme tren %Mﬂm o”mﬂmoﬁma follow a certain trend, row
choose the missing character accordingly.

mﬂﬂﬂqﬁﬂ_.m_amw@nﬂﬂﬁﬂ&ﬁnm&ﬁ&wﬂﬁaﬂ%ﬂ%ﬁ
%ﬁwﬂwﬂaﬂﬂﬁﬂﬂﬂiﬂ%w.%ﬁqﬂ%

Q13.
¥ ?/lm w |6 3 ﬁ,\;
1 \
V|2 3 9 |7 41
V|1 g 41 |3 |
WAL CE
(@ 94
(b
) 76 () 73 () 16



Q14. >

s 7AN |4 v s o
8\ 7 W m‘;w
3 3 A |2
29 ~ |19 31 ]
@ 3 (® 4 (/5 @ 6
Q16.
ﬁm 44 38

23 55 28

37 ? 39

@ 22 (b 33 (o 687 (&) 677

Directions Each of these questions given below contains three elements. These
elements may or may not have some inter-linkage. Each group of elements may fit

into one of these diagrams at (a), (b), (c) or (d)- You have to indicate the group of
elements which correctly fits into the diagrams-

forder : frr RT T Ve qeer & ey e & § A A FO I - T W
5§w§iﬁ.iﬁﬂﬂ§mmﬂ%%@ﬁqw?ﬂﬂg
3. syt 3 A & Wg A g e § S G F T T A e 7 L.

Q17. Which of the following diagrams indicates the best relation between Doctors,
Human Beings and Married People?



1
@%@ﬂ&@ﬂﬂﬁ%ﬂm&.ﬁmﬂ%ggﬂﬁd
ﬁmﬂﬁﬂwﬂﬂﬂﬂm&ﬂaﬂw _

@0
(A @ | ,\/frH/

g diagrams indicates the best relation between Man

Q18. Which of the followin
Worker and Garden?

Eﬂ%ﬂ#@ﬂﬂﬁ%
w«ﬂw«_uumﬂﬂqm%mqw

@ ©9

|

ﬂdﬂ.ﬂ.&ﬂﬂa%,%»ﬂﬁﬂﬂm@

Q19. Which of the following diagrams indicates the best relation between Males,

Cousins and Nephews?
%w@ﬂﬂﬂ%ﬂ.%a%%ﬂﬁﬂ
AEY TS FEASH BT AT §

(a) @ (b) OOO
(© @x\/ (d) @ O

N__.__‘WMWMNM*. In each of the following questions, select a figure from amongst the
ives, which when placed in the blank space of figure (X) would complete

the pattern.
@ﬂf : W #, AR Rwed # @ e ity &1 94T IO
IFR (X) & Rerer vy F T@at W A Q@ SO

Q20.

.9 _"_M 7
a)

)
(b) (c) Ay~




k- 4

that the orr 'Ollo

5:3@.

i . ing
a set of figureg carryin . is given. Assum
T low 4 similar patter 9 Certain characters i
T R/

N, fing the Missing character.

i TeTdw A
Hﬂﬂ:ﬂ# a A
A

Directions

S NS In the following,
One term in th

series of NUmbers gr¢
€ Number serie

©m<m:ﬂo__0<<_3@mom1m5 pattern.
wwm wrong. Fing the wrong term.

=& - St F, v PR Yok &

HEAT gy

ﬁdﬂﬂﬂqﬁmﬁg%iﬂ
# ] -
v%nﬂuﬂﬂw TS HEAT Wy

Q22. 196, 169, 14

Am,vf\@\ (b)

(c) 169
AL

(d) 196
£3 7,15,
Q23. . 3,7, 15, 7/ 63, 127
" . .
Ambw/u{\mﬂ/\ T (b) 15 (c) 2 (d) 63"
Directions

Choose the odd numeral pair / group which is different from the others

= &er : mwﬂnﬂ%ﬂwuﬂ\ﬂﬂwmﬂﬂw.ﬂq@@ﬂ%
D.Nb. (a)

95 - 82 (b) 69-56 (c) ﬁ-m.@ (d J\-mﬁ
Ty e 'S v e Q
N : s v —_—
_ - ) o @ 8-56 4
o -
Q25. (a) 11-115 (b) 10- ooﬂw ( Vi 8
= - 13
1-15 (d) =
i - (e 2
Q26. (a) 81-63 (b) \N»JW\ml =
4 el
Directions

=3
—_—

i i for various mathematical
: th substitutes / ‘
. i i i tion of an expression
DPFM“M_MV\WM__MN\COM_.MV\UN question _3<O__.M__._H,MQMN,,_MM_WO put in the real signs
mwﬁwwwmmﬂﬂw the oo_._.mmﬁ / incorrect mn:m:o:.m H_MU\M w:m question.
M.. numerals in the given equation and then
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ftar - g gt # e R Aol sl ar 3 & Ravew R o ¥,
ﬁ%ﬂmaﬂﬁumﬁaugdﬂ;. &Y rorAT AT FEY / TIT GO FT
wﬂ»%aﬂﬁﬂﬂ%ﬁﬁﬁ»ﬁgiw

Q27. :Damm:mﬁoﬁ;Bmm:mﬁo?._._.:mm:m,_xamm:mf%m:woxmowgmq

5= 7

J Ade« x, T A - + =
of Q A , K , fT(30K2)Q3J6T5= 7

+ ¢ -
V5 4 18- €

18 (b) 31 (c) (d) 103
14-<

(@)

if P denotes =, Q denotes x, R denotes + and S denotes -, then what is the

Q28.
<m_cmoﬁmoﬁnf»mm@w
gfg P Aqd H.Oﬂm_m_mwm_ﬂﬂ_mﬂm. +.mﬂ_ﬂﬂm.-.._..ﬂﬂ.4m0‘_m._u.\ W\m
S6? > . r
i z
A _ gy *°

»\v\

Q29. If A stands for + B stands for - C stands for x, then what is the value of (10 C

4)A(4C4)B6? ,
.. C FgaT x, AT (10 C 4)A(4C4)B6FH

Iy A Adee +, B )
aea FE? , e A
s o A I — ©
@ 57 (o) 60 (c) 56 (d) 46—

U._.mozn.v:m In each of the following questions, clues are given regarding
comparisons among set of persons, things, direction, age, time, numbers etc. You
are required to analyse the whole information and answer the given question

accordingly. )
e g@mﬂﬂﬂm%mﬂwﬂ&%aﬂﬁﬂmﬂﬂ%ﬁﬂﬂﬂw
mﬂaﬁwﬂﬁﬂﬁwﬂ. ﬂﬂ.&ﬂﬂwﬂ_ﬂw.wﬂﬁﬂm@ﬂﬂﬂ&ﬂ
fare ﬂﬂ%ﬁﬁﬁﬁ:ﬂdﬁdﬂ&ﬁﬂﬂ%%ﬂgw

Q30. Ifa1 ;
ot would UMH S_o.x paper is folded so that the area is halved at every fold, t
€ thickness of the pile after 50 folds?

1
afE ©F 335&ﬁaﬂﬂwﬂaﬂzﬂﬁmﬂﬂaﬂﬂmﬂﬁﬁdﬂ&gﬂ

S A N F T
TR ST 50 g 3 are FT M 2
(@) 100km ¢

hen

1000 km (c) 1milionkm (d) 1 billionkm




OCD@Q_.
Q31. A wag born 2 years after his father's marriage, his BOﬂjmﬂP_ﬂms\:mﬁ age did the

than his father, but 20 years older than A, who is 10 years old.
father get Married?

5 A
>ﬁmﬂ§3ﬂw§aamﬂaﬁm§§&iuﬁqmﬂw@ﬂﬁ
ﬂ&w%>@moﬁﬂmwww_ﬁ%uﬂ§3ﬂﬂw.wﬂmﬂ§%
qgg2
(a) 35 years (b) 25 years (c) 23 years (d) 33 years

Q32. .> father tells hjg son “| was of your present age when you werée bor”. If the
father is 36 now, how old was the boy 5 years back?

T R S 92 3w & A A gy ader 3w a1 9@ G YT §U
».%zﬁ#mﬂﬁwm,ﬂﬂwﬂmwﬂﬁuﬂmﬂﬂimﬂﬁw

(@) 15years (b) 13 years ~(c) 17years (d) 20 years

Q33. A father is now 3 times old as his son. 5 years back, he was 4 times old as his
_son. The age of the son (in years) is?

aﬂ?ﬂﬁmﬂﬁ%ﬂﬂ%ﬂwﬂmﬂwqﬁﬁﬂﬂmﬂaﬂ@
IR AT G357 A1, 3T 3 T 37 Far & 7

(@) 15 years (b) 12 years (c) 18years (d) 20 years

'

Q34. A <<03m1 says, “if you reverse my own age the figures represents my
husband’s age. He is, of course, senior to me and the difference between our ages is
1/11™ of their son”. The women'’s age is?

aﬂﬂ@ﬂﬂ%wﬁsﬂmﬂuﬂuﬂﬂuﬂdmﬂ&u&ﬂa@%ﬁ
F1 gfafaficd # & a7 ARTa @ @ 790 IR § 3N T sy 3 @ =
FREAR R A A FMI/NM1T e . sF R A s Fw & 2

(@) 23 years (b) 34 years (c) 45years (d) 50 years

f 15 people, 7 read French, 8 read English, while 3 of them read
5. In agroup o people, 7 rea ;
mw:m of these two. How many of them read French and English both?

15 @ F TAE F 7 g qga § 8 A Tod §, FOF IR ¥ 3 37 A=t
51 sdt Tod & T X Reay vyt 3 IS A e ¥ 2 .

M
(a) | 0 &), s

.
=7

©,




By S e
. movies 9 days ago. She goes to the movies only on Thursdays

Q36. M %am week is today?

What day o
m gaﬂaiﬁuiﬁ N e e F AR Gweh ¢
wnﬂﬂ_manﬁaﬂwQ ” —
3
a_eaamv\q._udmﬂ (b) /mﬁgawm:ﬂ w\w\\ﬂ\\

(a)
gunday faan (d)  Tuesday #Ier aC \x
quary 2003 was Thursday what was the day on 2™ Mar 20037 \\\\.\ ‘

()

Q37. I1f30"Ja
gﬂ%ﬂ R Iwar e, o 2 w2003 For w1 BT ¥ 2
%\ T ALLEL (b)  Tuesday HITTTEAR @;{
Thursday T%aR (d) Saturday @R

Directions In each of the following questions, select the related word from the

given alternatives:-

G-t %nﬁﬂﬁﬂ&ﬂqﬁiwﬂ%mﬂﬁﬂﬂ

F:X
Q38. Giant: Dwarf i Genius: ?

(a) Wicked (b)  Gentle (c) Idiot (d) Tiny
Q39. Forecast:Future :: Regret : ?

(@) Present - (b) Past (c) Atone (d) Sins
Q40.  Planet: Orbit 1 Projectile : ?

T : , .
(a) Track (b)  Milky Way (c) Trajectory (d) Path

Q4. Pesticide - Crop
(2) Clotting (b)

Antiseptic : 7
Bandage (c) Wound (d)  Bleeding

Qa2 Symphony Compose
.
(b)

:: Fresco : ?

(a) Painter
Inventor (c) Singer (d) Writer




1ain relationship

e . : ce another

W_Mmoé In each of the following questions, there S mﬂ is give e atives:-
S Ween g given numbers on one side of - - and one number n alter”

side of the sa

me . : while another number is tq be found from the . r ¥ @i T
guﬂ.ﬂgﬂ«% ﬂﬂ&.aﬂ%%ﬂ&ﬂ..wﬁﬂ@@dﬁ
?ﬂé?%%aﬁaﬁaﬁﬁsﬁiw.

ﬂuﬂﬂwﬁﬁﬂmﬂﬁgﬂﬂﬁ%w ¥ R«@ &m
3. 42:20 .. 409 K\ws e
e . 33 34 3
@3 © 2 (© (@ 3 L
LY ' 0
Q44. A«W”f s iwo”‘w \ G
Moo,
(@) 64 (b) 134" (0) 169 (d) None of the above %{x o
A
Q45. 0.16:0.0016 751:02 59 _ ,
%v 0.102 (©  1.020 (d) 102 \
2, 3 ) 2
\ e “ %
Q46. 1:1 .. 25:7? \ . A \ ,\ QD
@26 () 625 (g ,\:m\av 240 \\W\ ,
, K\/.. %

\
Directions In each of the following questions fou

r words have been given out, out
of which three are alike in some manner and the fourth one is different. Choose out
the odd one.

ﬁmnm_ﬂﬂwﬂaﬂﬂﬂmwﬂzaﬂgﬁ
dﬂﬂw%ﬂﬁmﬂ#w.gﬁm@q

Q47. (a) Rhea (b)  Trout () Lariprey  (d)  saimon
= a .

7 o

Q48. (a) Commander (b) Commodore ()  Brigadier aﬂ\i%\.

Q49. (a) Microscope (b) TelgseGpe (¢)  Periscope

—

w.ﬂﬂ#.@%ﬂgﬂw@

(d) Stethoscope

— =

Qs0. (@) Thyodn (o) Aderln (@) loding

(d)  Insulin




hb5 jmﬂﬂmﬂmm Olm‘_\m.
an _ﬂ_mmm 100 hectargg
518 jtop
Q51.

e
of tractors "

nd in 5 da
in 50 days?

ys, then what is the Number

O@N. <<

T F97 ¥

b\ﬁ\ () 242 d) 2

W . m m n same time the
Q53 T f a pole 6 mtr high is 15 mtr _o:@ﬁm. d at the
. 3% mﬂMMo.mNMB:. long. What is the height of the tree?
shadow of a tree, !

g ; TF 93 Fr
# o 6 e A IR 15 HArex FFd ¥ R s wEe

Th . : \

o 25 AR w9 A S ael

_ d) 40 mir
@ 2my (b) 1pmtr - (c) 35mtr (d)

hat is the
: -fourth by 8, then w

Q54.  If onetirg o two-digit number exceeds its one-fourth by

sum of the digits of the

number? o
- -
i #ﬁ#ﬂﬂﬂ.ﬂﬂwﬁﬂaﬂ.ﬂsﬂ@m% EL)
YT T g
@ B g

(g 15 (d 17
Q55. A NUmbgy

mber,
i to the nu

! e is 8. If 18 is added

theidigiisiere aéamw_zm * o digits whose sum is 8. |

. -Th . ? |
aﬂa#aiﬂmscacm:mmncm.:o - e
e & J?ﬁmw.uﬂﬂmﬂ»,ﬂwﬂﬁ%a

(@ 2 by

% ©) 53 (d) 62



. nqmmmwo:

Q56.  Which of the foliowing Statements is true in resPe
sin 31° + sin 320 9

: # a<F 87
TR & 3 sty qr w0 sin 31° + sin 320 sferca@d F TF

(a) Its value is 0
FHET AT O F
(b) Its value is 1
, FHT AT 18
(c) ts value is less than 1

FHHT AT 1@ FA &

A1 value is greater than 1
<7 FEHT Al 1 @ SAET &

Q57.1f 1+ tan © = \2, then what is the value of cot § — 17

TR 1 +tang =2 € @ cot 6 — 1% 5rey 7y 27

(@ 1 (b) 2 c) 2 d

V2 A 2 w
Q58. Iftane =3 and 8 is acute, then what is the value of sin 6
4
ﬂﬂﬁmzmuml%oﬁﬂﬂﬂwwmqmimﬁ#ﬂhmﬂqg
4

@ -3 (b) © 4 _ \

5 5 . 5 = i

Q59. What is sin 25° sin 35° sec 65° sec 55° equal to
sin 25° sin 35° sec 65° sec 55° farad aAET 2 | -

S

7

(a) -1 (b) 0 (c) 1
| 1 av/\\

Q60. Which one of the following triples does not represent the sides of a triangle?
Wﬂm@@ﬂ&ﬂﬂﬂﬂﬁ:ﬂ.aﬂw&ﬂ%‘mﬂ%ﬁnﬂﬂaﬂm&ﬁﬂ%
(a) 4.5) (b)  (4,7,10) () (3,6,8) d)  (2,3,6)
b

‘

Q61. A round balloon of unit radius subtends an angle of 90° at the eye of an
observer standing at a point, say A. What is the distance of the centre of the balloon

from point A?




el g AT @3 v qaaTE A IAE o
El 2 o ° @Ooﬂ
g AT m.m>ﬂm_.ﬂ_‘~uﬂ»ﬂ%qwﬂmﬂwq F11
TR V2
12 (b) () 2 @ 1
elevation of the sum when the shadow of 4 Rote is 3

Q62 what is the angle of

?
times the length of the pole
wgﬂaﬂ ) 1 TFAE B3 a0 3y

41
AYar 7 AN o
450 () 60° (d) 75°

Amv moo AUV

Q B 30° then what is the value of tan a ?
63. Ifp= )
afr mumo& 4 tan a &1 AT AT -
@ 12 ®) 173 © 4 o e
1ding 90 mtr high, the angle of depression f
the top of @ puilding gh, | o

and fnebot are 30° and 45° respectively. What IS the height of the :mm\.»_o

and the bottom of @ tree

ﬂmoﬁﬁw&%ﬂni@aﬂﬁﬂwﬂ%a@gﬁsgr
80%3&.&%%&3&?

(a) 30V3mtr , (b)
(c) 90+30 ¥3 mtr (d)

90 — 30 V3 mtr
60 + 30 V3 mtr

Q65. What is the area of a right angled isosceles triangle whose hypotenuse is 6v2

cm?

aﬂﬂﬁs%ﬂw@ﬂﬁgmﬂw@dﬂﬁ&még?
(@ 12em® (b)) 18cm® (o) 24cm’ (d) 3pem’

Q66. The diameter of a circle ci ibi . .
length of the side of the mncmﬂmw ircumscribing a square is 15v2 cm, then what s the

Fof & 9w
& o mﬂﬂﬂﬂaﬁﬁ:w.m&%aﬂzﬂ%mﬂﬂmﬂ%
m -~ — be e A—
cm (b)  12cm () 10cm (d) 7.5¢cm

Q67 How many 2( i .
10 R lengths can be cut from a 10 mir of ribbon?
@/ﬁ 200 e e & RaaT F1& o7 g 67

b
Voe@ w @ 20

Qi |
e



3 :22. If the
Q68. The rat

. . . th is 2
. io and inner perimeters of g circular pa
path is 5 myr of the outer

Wide, the diameter of the inner circle is?

n.m_.mu#ﬁ.
aﬂ?ﬂé%i%i%ﬁﬂdﬂﬂmm“mm w.ﬂ.@.
ﬂﬂwawgmﬂmﬂg_ﬁng

230 mtr
@  55my (b) E@\a: © 220mtr  (d)

. units.
Q69. “The product of the lengths of the diagonals of a square is 50 square
What is the length of a side of the square?

aﬂmﬂmﬂwﬂi%mﬁaﬁmﬁaﬂmoﬂwﬂwwi%qﬂmﬂ%
TS et ¥

(@) 52 units (b) 5 units (©) 10 units (d)  2v5 units

OVO.. From a cylindrical log whose height is equal to its diameter, the greatest
possible sphere has b

een taken out. What is the fraction of the original log which is
cut away?

ﬁ»ﬂﬂwﬂzmﬂgwﬂ&ﬁ#ﬂiﬂﬂﬂﬂuﬂdﬁﬂmﬂdﬁ
jw_ﬂﬂwﬂsﬁw.ﬂ;ﬂﬂ@ﬁmﬂmﬂﬂﬁqmﬂwﬂdﬂﬂgsﬁ

e?

(@ 12 (b)y 13 () 1/4 d) 2/3
Q71. The diagonal of a cube is 4+/3 cm. What is its volume?

F g F1 Aot 443 et ¥, swedy Amw w1 B

(@ ~16cucm  (b) 32cucm (c) 64 cucm d 192 cu
cm

Q72. If the size of a cube is increased by 100%,
surface area of the cube increased?

I wH B F AE H 100% gy & el &, A U F IRy atwwer i e
yfaerd & gy eef? ]

(a) 150% (b 200% (c)  300% (d)  400%

then by what percentage is the

Q73. What is the least number of straight lines for a bounded plane figure?




| ~ < oy FAATH HEwy
&4 2

g T i
&y 2 (©) @ 4
@
. ‘ ich are parallel. T
. in @ plane, no two of whic T
e liN®° | intersect is7? aximum

%ﬂaﬂ%w.w@ﬂgﬁ

q74. THe™ jisin whi
jcﬂcm_.oﬁ co_:m @ ¥ m_ﬂ\uﬂ a =g i ar
- nM% i dwar ¥4 &7
¥
vfade F (©) 10 (d) None of the above FT§ 3y oft
@ +
is 75 year
cofa father and the age of a son is 75 years. If the prod
Q75. The m:_jﬁom:mmv\mmwa was 750, then what is the present age of the SS%% uct
of their ages bet0
mﬂ%%%ﬁ%m&ﬁﬁﬂﬂmq@w. afx 5a% ¥ TEH 3% g 7
TH % ) 7
ﬂﬂﬂmaoﬁaaﬂ%mﬁﬂ_ﬂwﬂmgw\w
@ 60 ) 55 (c) 52 d) 50
Q76. The fourth proportional 107,11, 14 is
N:_:ﬂﬂﬁﬂﬂﬂﬂn Far 22
* () 18 © 20 @

(a)

is 38.4 kg. If the

15 boys and 10 girls
he girls?

Q77. The average weight of a class of
the average weight of t

average weight of the boys is 40 kg, then what is
15 @=® 3R 10 wehrat
S ﬂfoiwaﬁ_ﬁqﬂﬁ &1 st aue 38.4 Ao AR T

g
(b)  35kg ) 36kg @ 46K

arks in @

Q78.
of 100
stud
ents, there are 70 boys whose average M
hat iS the

In a o_mmw
subject are 75 ¢ "
]

m<mﬂmmm3m;m2 m<m.‘m
the g OOBNZA

< I s of t
Qirlg? :mooBU_mﬁmo_mmm_mﬂm_Em: <<




Q79. The Sum of two numbers is 7 and the sum of their mgcmﬂm
of the two Numbers js?

& FEATH F qvr 7 & gite 3AE awit oA 05 wmqmi
¥ SERE (L SO ¢
) n At

9
/\@mw.v ; (b) @v © 12 () 15

e interest per

Q80. The sum which amounts to Rs 364.80 in 8 years at 3.5% simp!
annum is?”
- afar F4 grf?
3.5% qf¥w wreror saTsT & ¥ 8 a9f F Rs 364.80 FY

(@) Rs285 (b) Rs280 (c) Rs275 (d) Rs270

Q81. When an article is sold at 20% discount, the sefling U:om is Rs 24. What is the
selling price when the discount is 30%?

ST TF TE F 20% P T &9 AT ¥, @ Rww qea Rs 24 8. 7 GT 30% & &t
T Fe 7w #2
(@) Rs25 (b) Rs23 (c) Rs21 (d) Rs20

Q82. By giving 25% discount a trader earns 25% profit. If he sells the item mﬁ 10%
discount, what is the profit?

TF AR 25% §T & FX 25% W1 Hfoid FaT 8. AR 9§ ¥ F 10% B W
-~ S

FTar &, ar o w19 2

@ 10% (b ,\on\o\ (©)  45% (d  50%

Q83. A man buys 200 oranges for Rs 1000. How many oranges for Rs 100 can be
sold so that his profit percentage is 25%?

aﬂ%ﬂ%mﬁooonmooaﬂﬂ&mﬂw mmso@wﬂ»ﬁﬂﬁﬂﬁﬂw
ﬂ@..uﬂﬂﬂ&mmﬁﬂo
@ 10 () 14 () 16 (d 20

—

Q84. Acaris travelling at a constant rate of 45 km/h. The distance travelled by car
from 1040 AM to 1 PMis?
qﬂﬁa&iﬁw%sﬂ@mﬂ%w ﬂwﬂabo\yz@:uzmﬂﬂzﬁa

wﬁmdw;&ﬂ&

(a) 165 kms (b) 150 kms () 120 kms (d) 105 kms



a“

¢ GO
d 14 kms ups ream, and he takeg 6 h VR« Vv
ours’ 4
A

m 32 kms an
s the speed of the current? 7
\\/O

ﬂ@ﬂ.ﬂgiﬂmﬂﬂﬂ:
afar FATE 72 e

1.5 km/h (d) 2 km/n

nstred!
what!

1 km/h (c)

speed of 12 km

/h and returned to his
hou:s )
0 minutes for th = MfV\ /

e whole journey, what was th
s the

Vol

() ‘§ilg .o school 8t the
tt he has taken 5
/

d?
q wﬂa.%mﬁﬁ%%@m v

=
\v\

@ amar & fare 50 TS T HAT foran = &
mqﬂ.wﬂﬂuﬂn.a tarwm
S

1 87
(c) 16km (d 20km

. oeld i d C in 25 days. All th
. ish @ work in 15 days, B in 20 days an - ese three
Qs7. Acanfm rned Rs 4700. The share of C is?

worked 8@@@683 ea
>qﬂﬁ4ﬁamﬂ4w.mmowﬂ4 #
%ﬂu@mﬁmﬂ@ﬁ% Rs 4700 ®&ATC .C HT
(a) Rs1200 () Rs 1500 (c) Rs 1800

mainder 59. When the same

er, when divided by 987, gives a re

Q88. A numb
der?

number is divided by 21 what is the remain
uF TEA A 987 ¥ RIT FT G¥ 59 AR
fasnifora fam ST ¥ @t Ay wwar 4T 87

@ 21 () 19 () 177 @) 15

e g@ar & o 3@ A 20

@89. If a positive |
the remainder ocs:_d:a@mﬂ leaves remainder 28 when divided by 143, then WhELS
ed on dividing the same number by 137 |

gfe TF Udlens

fuico :

aﬂ@qmaﬂfﬁw . R —
@ o B 9Tcd gem?

amyltj
ple of i
1) P, if

Q90- (N"=1)jg
gfE (NP N is pri
. is prime to p and p is a?

P FHr
wq_ﬁw.%.«zbﬁwa:ﬂqw.mqnmﬂw@




(a)
(b)

Prime number IS Heqp
Rational numper  witarar HEar
© al number IFIRAF Hegr

Composite number ﬁ.mﬂﬂ TEaT

is 850.
bers is 16 times thejr HCF. The sum of LCM and HCF
If one number is 50, th

en what is the other numper;

ﬂgmow_mqﬁ . w2

@), 89 (b) 1200 (c) 2400 (d) 1600

Q92. The HCEg

Of two numbers is 98 and their LCM is 2352. The sum of the
numbers may be? i

& FEARY iy HCF 98 &, stk serar LCM 2352 §. &t 3o7 Weamat &1 9vr Fa7 &2
(@ 1372 (b) 1398 (c) 1426 (d) 1484

Q93. How many numbers between 500 and 1000 are divisible by 13?
500 3R 1000 & drr fraet wwaTe 13 oo 22
(@) 36 (b) 37 (c) 38 (d 39

Q94. Which one of the following is a non-terminating and repeating decimal?

fAfaf@a & @ Fta o1 v swia sk sradf genrET 32

b) 3 © 3 () 137
(a) - (b) - 2 3
Q95. Which among the following is the largest?
frafaf@d # ¥ &l gad gz #2 e
(d) 10
(a) w (b) m (c) . 10

What is the square root of 9 + 2V14?

g ia T g o ¥

1+ 242 () B+¥6 (0 V247 () a4qs

Q96.

(a)




\ : :
st number that must be added t0 1780 to Make it perfoct

what 1 the smal'®
Q947 fare 1780 #
mncm_.mo . T 3 wﬂdu. i Coa o * m..q.ww._. e
ag Fad % b) 49 (c) 59 ) 69
@ ” X is 20% more than salary of Y, then by how much percentage s
m_m_‘v\ Oﬁ : 2
Qs _ww/\ jess than X7 - % .
Salhy saT ¥ ¥ aad J¥ 20% el & ary Ic ey AT Foy
afy X &
& - A
c) 2 65
(b) 20 ( . :

Amv 25

secure 40% of marks to pass an exam. He gets only 45

A student has to . -
Mww_m and fails by 5 marks. The maximum marks are’

ﬁ%ﬁ%ﬂﬁﬁ&ﬂ@déﬁ%ﬁﬂﬂﬁ%ﬂ@%ﬁﬂﬂ&ﬁ

e a &, 3 5 31 ¥ srgechor grar @ At srflwad 3F fraw @7

(@ 120 (b) 125 (c) 130 (d) 150

/
Q100. What is the number which has to be added to each term of the ratio 49 : 68,
so that it becomes 3 : 4 ?
T& FT H FEw ¥ B 490 68 F 3T & wAT ug F Sr wew A o
3:48 I?

(a) 3 (b) 5 (c) 8 (@)

=

7
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